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» Please check that this question paper contains 16 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

» Please check that this question paper contains 30 questions.
* Please write down the Serial Number of the question before attempting it.

* 15 minutes time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
S PN
ECONOMICS
[erfRa @ae - 3 792 ] [ 3Tferma 37 - 100
Time allowed : 3 hours | [ Maximum marks : 100
13357 :
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(i)  eI% J99 & GIH7 373 37% 9T 13 & |
(iii) 97 G&IT 1-5 37 16-20 377 TG 37T J97 8, J4% 97 1
37 F 81 G F¥1 3 I Uk JTFRT 7 347 8 /

(iv)  To7 G&IT 6-8 3K 21-23 T IR 7 &, F% J97 3 37 &
&1 gyt g5 & I GIHI=IA: 60 Yo @ F T & |

(v) T GEIT 9—11 3R 24-26 T8 ¥ 7T IFIT T &, I3 J97 &

4 3% 8 | @ F51 3 FoK GrET=Ia: 70 Jeql & 39F T &1/

i) ¥ GEIT 12-15 37K 27-30 5 3709 J97 &, I9F J97 & 6
37% & | @t F571 @ 3T GIHI=Id: 100 F1551 G 3717 T &1/

(vii) 3IRIE o9 F IR TRIG TI F& & TNRT TAT JIEGIT
[79TFER 3158 GIHT % Hiat I 197 ST =118 /|

Instructions :

(i)  All questions in both the sections are compulsory.
(ii)  Marks for questions are indicated against each question.

(iii) Question No. 1 — 5 and 16 — 20 are very short answer

questions carrying 1 mark each. They are required to be

answered in one sentence.

(iv)  Question No. 6 — 8 and 21 — 23 are short answer questions

carrying 3 marks each. Answers to them should not normally

exceed 60 words each.
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(v)  Question No. 9 — 11 and 24 — 26 are also short answer
questions carrying 4 marks each. Answers to them should not
normally exceed 70 words each.

(vi)  Question No. 12 —15 and 27 — 30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

(vii) Answers should be brief and to the point and the above word

limit be adhered to as far as possible.

«ug - A
Section - A
1. TSR A1 ht giem e | 1
Define market demand.
2. 37Hd GuIed (M) R hHd T&T SR Bld & : (Tl fohea giu) 1
(1) Shael qut IfIfTaT o SFwaia
(9) haet UhTTRRIcH TTaTiTar o F=aiid
(T) haced THITHR o T=qId
(3) @t YRR o AR |
Average revenue and price are always equal under : (choose the
correct alternative)
(a) perfect competition only
(b) monopolistic competition only
(c) monopoly only
(d) all market forms
58/1/2 3 [P.T.O.
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SRR I i Ueh fIRISaT SIdT3U | 1

State any one feature of oligopoly.

= T3t g AT ST W U S i G SAEER 2 | SHehl Shiud T
W(aﬁﬁwgﬁn) 1

31) 38 W U ¢ =3 | IS Iiad Tl 7 |

&) 39 9 fopa T = e |
T) 39 9 Toham T = " |

T) IUUH H ¥ S ot |

(
(
(
(

The demand of a commodity when measured through the
expenditure approach is inelastic. A fall in its price will result in :

(choose the correct alternative)

(a) no change in expenditure on it.
(b) increase in expenditure on it.
(c) decrease in expenditure on it.

(d) any one of the above.

S-S T A Y IR gaat defl @ A 9% WEw and ¥ 91 9ed
3, win i Fmd o : (T fashed i) 1
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As we move along a downward sloping straight line demand curve
from left to right, price elasticity of demand : (choose the correct

alternative)

(a) remains unchanged
(b) goes on falling
(c) goes on rising

(d) falls initially then rises

6. ‘I 3T Rl hH THEIT shl FRAT hHIST | 3

Explain the problem of ‘what to produce.’

7. I9AIfar fovcir i geEar € feEmsu fr v awg il A 3R 3u
fia o faoia Ty €T ] | gWEsT | 3

HAYAT

ITYHT =gk ST ST FOTIcHh 1 BT © 7 AW |
Show that demand of a commodity is inversely related to its price.

Explain with the help of utility analysis.

Or

Why is an indifference curve negatively sloped ? Explain.

8.  IcUTeH THTEHT THHT (56 ) o 31ef 3R foriwaTd sramsy | 3
State the meaning and properties of production possibilities
frontier.
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9.

10.

11.

T IYHIH had &l g 1 STFRT AT © | ITATRQT Torgersor S
L JUHIRT T hi Id THATST |

A consumer consumes only two goods. Explain the conditions of

consumer’s equilibrium using utility analysis.

TSR erehIcHes Siaqfiar shl “GHT o ety Jasr o afeim’ fomivar &
TioTHT sht samea hifsru |

Explain the ‘free entry and exit of firms’ feature of monopolistic

competition.

FA 3G o HYUR W qiad] igaral o =79 & fafym =wor samsu |
[T 1 JART I |

HAYAT

gfd &t fa = A it sfufae ot awemee | et w1 owEm
i |

State different phases of the law of variable proportions on the

basis of total product. Use diagram.

Or

Explain the geometric method of measuring price elasticity of

supply. Use diagram.

g whenfeat & for weq deam 11 F A W
aftaret STgaTal o oM o fafsm = we aforenrt i aemaT @ SamET |
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HAYAT

“gfd § fEda’ IR g &t 7 ° qitEdd o s 3Tat auEsy |

For blind candidates in lieu of Q. No. 11.

State different phases of the law of variable proportions with the
help of a schedule.

Or

Explain the distinction between ‘change in supply’ and ‘change in

quantity supplied.’

12. U BH o 31 shl ANTd dlfeienl i< af =i 8 | 3cared o gl T |
3Icq1e <Y Ufd SoRTS SSTR Shi|d 12 %. @ | EHTd a3 H|id geanfy
(o) fafsr & dqe 3TAEH T T J1A hIY | 379 I ok hR0T

ifore : 6
3T (3HTS) 1 2 3 4 5 6
37Ed An (%) 12 | 11 | 10 | 10 | 104 | 11

Given below is the cost schedule of a product produced by a
firm. The market price per unit of the product at all levels of
output is Rs. 12. Using marginal cost and marginal revenue
approach, find out the level of equalibrium output. Give reasons

for your answer :

Output (Units) 1 2 3 4 5 6

Average Cost (Rs.) 12 11 10 10 10.4 11

58/1/2 7 [P.T.O.
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13.

14.

T X H FHd s 10 Ffaed g ® 1 3@l WM 150 $RE d
TRt 180 ShTS B STl & | TR AT hl ShiFd I o1 THeheld shilSU |
Tgeh! ShiAd ford gfasrd = for sEehl AT 150 SIS | 210 S &
e ?

When price of a commodity X falls by 10 per cent, its demand rises
from 150 units to 180 units. Calculate its price elasticity of
demand. How much should be the percentage fall in its price so

that its demand rises from 150 to 210 units ?

X 3R Y 90 a&qE 2 | 'Y Y hiud e STt § | 39 uREde o Ier X o6
TSR T B aTed TTall shi STaelT shl SIReat i |

AT

T %G oh HIT AT off 3Teh! e hivd W TS aTcl T9Ei hl

ST Shi SATEAT ShITeIT |

X and Y are complementary goods. The price of Y falls. Explain

the chain of effects of this change in the market of X.
Or

Explain the chain of effect of excess demand of a good on its

equilibrium price.
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15. Tr=fafaa arferert st qu shifsi : 6
3G | $d AT | 3THd IiEd] AnTd | EH AT | 3fied R
(zreal) | (%) (®.) (®.) (®.)

0 30

1 20
2 68 --- —- —--
3 84 18 - —--
4 18
5 125 19 6

Complete the following table :

Output | Total | Average variable | Marginal | Average fixed
units cost cost cost cost
Rs. Rs. Rs. Rs.
0 30
1 20
2 68 --- —- —
3 84 18 —- —
4 - - 18 -—-
5 125 19 —- 6
58/1/2 9 [P.T.O.
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wWue -
Section - B
AA=Fh SUSHTRT AT 379 18T | 1

Give the meaning of involuntary unemployment.

TSI 9T FT =T 2 ? 1

What is revenue deficit ?

TS Sfehl 1 AT ol ST 1 S AT TR Rid ik o a9
T EIell @ 39 : (e ferehed gfw) I

(=7) FTfaITereh qeIdT 3THTd hed ©

() SHT LI FEd &
(|) IRfed Fohg T
(3) AeTieh I 37U

The ratio of total deposits that a commercial bank has to keep with
Reserve Bank of India is called : (choose the correct alternative)

(a) Statutory liquidity ratio

(b) Deposit ratio

(c) Cash reserve ratio

(d) Legal reserve ratio
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20.

21.
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WM T 1 3 Farsy | 1

Give the meaning of balance of payments.

THI HTT T ST S HehelT © : (TR forehed i) 1

(31) S T TR

(a) sTRefrer frord 3ok grr TRt iRt S
(§) Toha TN IFIUTA STGTH

(]) 3Tk o ferelt o gra &

Aggregate demand can be increased by : (choose the correct

alternative)

(a) increasing bank rate
(b) selling government securities by Reserve Bank of India
(c) increasing cash reserve ratio

(d) none of the above

srf<m aEgeti TR mevadt awgeti # 98 HINT| T F1 TH-TH
EHRUIEIE I 3

Distinguish between final goods and intermediate goods. Give an

example of each.

S oh! Tcd&d ST TTE il H TIehd hi 1 HTUR THIAY | TR0
31T | 3

Explain the basis of classifying taxes into direct and indirect tax.

Give examples.

58/1/2 11 [P.T.O.
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23. ST Yod o i GHEST | 3

HAAT

ST AT b1 A 7R 3Gk T sy |

Explain the store of value function of money.

Or

State the meaning and components of money supply.

24, HSIg Sk GTRR T Skl o hId shl AT hIfST | 4

HAYAT

ST A o = H g W R (wid edie ) i fiert shi same
hifeT |

Explain ‘banker to the government’ function of the central
bank.
Or

Explain the role of reverse repo rate in controlling money

supply.

25. GHITSY fohl TohR TThRRT SISTe 3T ToraTor shl THTfId sht Hehdl & ? 4

Explain how government budget can be used to influence

distribution of income ?
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26. Teh AT oM | ¢ | 38k aR | fou mu f=fafaa omeet & fem

27.

28.

P ST YHehe hifeTT : 4
(i) 3™ = 10000

(i) EET 3TN TG = 0.9

(iii) TR IUHAT = 100

An economy is in equilibrium. From the following data about an

economy, calculate investment expenditure :
(1) Income = 10000
(i1) Marginal propensity to consume = 0.9

(i11)) Autonomous consumption = 100

T fifere 36 far § 9fg 800 Fe . 3 Huia susiv ygft 0.8 2,
Al 70Tk o1 SIfsRaT THETST | 6

Assuming that increase in investment is Rs. 800 crore and marginal

propensity to consume is 0.8, explain the working of multiplier.

faresht go1 <t ima e W 3T 7T T Tt & 3R gfd = aedt 7 7
HHATRT | 6

Why does the demand for foreign currency fall and supply rises

when its price rises ? Explain.

58/1/2 13 [P.T.O.
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29. () ¥ 1 a1 (@) faa T sy 31 ot it Fhifse : 6
(%. Sl H)

() | focsti =l faa ek 3/ (-) 50
(i) | e sTIcae 800
(iil) | 319 fova @ FHaa =] TEaa 100
(iv) | et st 200
(v) | Tsh st sasim = 5000
(vi) | TRt Af=a| 3uam =g 3000
(vii) | Teha <efia gsft fmfor 1000
(viii) | sreret dsft =T Ium 150
(ix) | % H aftadq (-) 50
(x) | Tuiz@ sm 4000
(xi) | ferenfef=i = sEah 80
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Calculate (a) national income (b) net national disposable income :

Rs. in crores
(1) Net factor income to abroad (-) 50
(i1) | Net indirect taxes 800
(i11) | Net current transfers from rest of the world 100
(iv) | Net imports 200
(v) | Private final consumption expenditure 5000
(vi) | Government final consumption expenditure 3000
(vil) | Gross domestic capital formation 1000
(viii) | Consumption of fixed capital 150
(ix) | Change in stock (-) 50
(x) | Mixed income 4000
(xi) | Scholarship to students 80

30. I HeATT o Gk o €9 § Tohdl Q1T 3cd1g it R-fse fafm’
AT < =T it |
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arerat
1 % TT] 3G T AR hid GHY THHATIRad o &1 91 S8R
T ? 3T I oh [T FHROT ST -

() 2Tk ook <kl TorawTl H STRETSTT g ST ore

(&) TS g e o Taasdn foaw W fdu e 3uer

(@) facsh wieeni g0 @lieT T 9H

Explain ‘non-monetary exchanges’ as a limitation of using gross

domestic product as an index of welfare of a country.

Or

How will you treat the following while estimating domestic

product of a country ? Give reasons for your answer :

(a) Profits earned by branches of country’s bank in other

countries

(b) Gifts given by an employer to his employees on independence

day

(c) Purchase of goods by foreign tourists
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